BN — Tk (A4F#K)

S 5% 10H4
A VPE T3 /KB K B RS St 3 (M [k 5)
FEAKEER 9:00
JR K ARERERAESR (L)
SR . . TIVh) A O | Eiw <
IO R SR e | ome | opH POl sl I T M %
C C & me/L | mg/L me/L me /L mg /L me /1,

1 & 25.9] 22.0 0.7 7.44
2 i 23.3] 22.0 0.7 7.36
3 i 23.4| 21.4 0.7 7.48
4 58] 18.5| 21.0 1.6]  7.40
5 & 20.2[ 21.1 0.8 7.33] 15.8] 16.7 54.0 3.0/ <0.03] <0.02
6 i 19.8[ 20.6 0.7 7.24
7 i 19.5] 19.6 0.9/ 7.22
8 = 18.4| 19.2 0.7 7.25
9 58] 18.5| 18.9 0.6/ 7.36
10 | M 19.3] 18.2 0.5 7.36
11| 2 19.0] 18.1 0.5/ 7.40
12 | W 21.9[ 18.0 1.0| 7.37
13 | W 21.0[ 18.5 0.8 7.25
14 | W 19.5] 18.1 0.5 7.34
15 | [ 17.6] 18.0 0.5 7.41
16 | M 19.5| 17.9 0.5| 7.42
17 | W 20.2] 17.8 0.5/ 7.40
18 B 20.0[ 17.7 0.5 7.51
19 B 20.5] 17.5 0.5/ 7.46] 19.4| 20.5 53.0 4.3]  <0.03]  <0.02
20 & 22.2| 17.3 0.5/ 7.45
21 & 18.4| 17.3 0.4 7.43
22 B 15.4| 17.2 0.4 7.49
23 B 16.7] 16.8 0.4] 7.55
24 B 20.0[ 16.7 0.4] 7.51
2% | 2 16.0] 16.3 0.4 7.43
26 B 19.1] 16.1 0.4 7.42
27 B 18.6] 16.0 0.4] 7.45
28 B 18.2| 16.1 0.4] 7.45
29 B 17.2] 16.0 0.4 7.42
30 B 19.0] 15.9 0.4] 7.45
31 5 19.1] 15.9 0.4 7.63

) 19.5| 18.2 0.6/ 7.41| 17.6| 18.6 54 3.6/ <0.03] <0.02

R 5 25.9] 22.0 1.6 7.63] 19.4| 20.5 54 4. 3[<0. 03 0. 02

K 15.4] 15.9 0.4 7.221 15.8/ 16.7 53 3.0l <0.03] <0.02




BN — Tk (A4F#K)

N 6HE 1084y
A VPE T3 /KB K B RS St 3 (M [k 5)
FROKIEE] 9:00
oK AKERBREEE (Bdkh)
S| \ Wb g | i ~ v
ORISR | e | me | ol PO vl sl I %
C C JiE mg/L | mg/L mo /L me/L mo /L mg /L
1] 4 25.9| 22.7 0.5 7.47
2| g 23.3| 22.4 0.5 7.46
3| & 23.4| 22.2 0.6 7.42
4 [ 18.5] 22.1 0.6] 7.45
5| & 20.2] 21.7 0.7 7.40| 16.2| 18.1 58. 0 3.0/ <0.03] <0.02
6| IE 19.8] 21.2 0.6/ 7.37
7| W 19.5] 20.5 0.7 7.36
8 ‘= 18.4] 20.1 0.7 7.28
9 M 18.5| 19.6 0.6/ 7.33
10| W 19.3] 19.3 0.4 7.40
11| 2 19.0] 18.9 0.4 7.45
12| W 21.9] 18.8 0.4 7.48
13| W 21.0[ 18.8 0.8] 7.40
14| W 19.5] 18.9 0.5| 7.37
15| [ 17.6] 18.7 0.4 7.43
16| I 19.5| 18.4 0.4 7.51
17) W 20.2| 18.4 0.4 17.51
18] I 20.0[ 18.3 0.3] 7.57
19| W 20.5] 18.3 0.3 7.54| 20.0] 21.1 51.0 4.3]  <0.03] <0.02
20| 22.2] 18.3 0.4 7.48
21| M 18.4] 18.0 0.4 7.52
22| M 15.4] 17.5 0.3 7.58
23| M 16.7] 17.4 0.3 7.60
24| 20.0[ 17.3 0.3 7.63
25| £ 16.0] 17.2 0.3 7.54
26| M 19.1] 16.9 0.3 7.56
27| 18.6| 16.8 0.3] 7.57
28| M 18.2| 16.6 0.3] 7.57
29| M 17.2| 16.4 0.3 7.56
30| hE 19.0] 16.3 0.3] 7.57
31 i 19.1] 16.4 0.3 7.52
1y 19.5] 18.9 0.4 7.48| 18.1] 19.6 54 3.6/  <0.03] <0.02
b d 25.9] 22.7 0.8 7.63] 20.0] 21.1 58 4.3]  <0.03] <0.02
AR 15.4] 16.3 0.3 7.28 16.2| 18.1 51 3.0l <0.03] <0.02




